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MATH 201-[Sections-18, 22] Quiz # l(a) ID# "rf /J ,- ---­JL()~») Section 

Time: 20 Minutes Date: 26-9-2013 

1) Sketc~ the following parametric curve and identifY particle's path 't, 
x = t + t Y ­ 2t 1 (-00 < t < (0). on I . 
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2) Find slope of the curve" 
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MATH 201-[Sections-18, 22] Quiz # l(b) ID# 'rJ"t,.f-l,.,. JI Section 

Time: 20 Minutes Date: 26-9-2013 

1) 	 Write r sin (() +~) = 3 in Cartesian Coordinates and then find slope of the 

resulting curve. 
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2) 	 Find areaLofthe surface generated by revolving the curve 

x = cos 2 t, y = sin2 t (0::; t::; rr/2) about the x -axis._----~ 
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MATH 201-[Sections-18, 22] Quiz # l(c) ID# /l&~I) Section 

Time: 20 Minutes Date: 26-9-2013 

1) Sketch the parametric curve C:x =2t -l,y = t + t 2 • Indicate by an arrow 
how the graph is traced as t increases. 
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2) 	 Write the polar equation r = 2 cos () + 2 sin () in Cartesian Coordinates and 
sketch the graph of the resulting equation. Through which points of the axes 
the graph will pass? 

y l-. ~ J. Y t;r.) 1).. + )... y L:- d) 

1. 	 l. ,?. x -f 'J- '" ~..,.'1 -:::: d 

;t:. t fjA;7/]~ ItA. e-	 ~) (;I) ? (2 J 0) .f.. c. () -%) d'II\­

, 	 ~f 
)C.- ~ ~ tJ-~ . 


